College Level Mathematics Placement Pretest

1. -2x(x+3)—(x+1)(x—2) =
—Xx*—7x-2.
—Xx*+5x+2.
-3 —Tx+2.
—3x? —5x+2.
—3x° +5x—2.
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5. (64) 2=
a. 8. b. —4. c. ——. d.
8

6. Hy§+a=b,ma1x:
a. (b-a)’.

(a—bf.

b*—a’.

a®-b’.

Ib-a.
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a. xy(x+y).
1

Xy(X+Yy)
1
—(x*+y%)
d y-x.

1
e. —.
X+y

8. |2x+7|<1 is equivalent to which of the following?

X<-3
x<3
3<x<4
—4<x<-3
0<x<3

® o0 o

(o}
Q
W
QD
FN
Il

1 2 1 1
a. ab. b. a’ . c. a2, d. a*.
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10. In the figure below, if the length of AB is 10, find the length of AD.

A
a 112

10
b, 11>
c. 12
d. 12=
e. 12= C 8 B

10

E D

11. One solution of the equation x*>+7x—2=0 is

a 7+4/41
2

p, 14
2

c 7+\/§
2

q —7++/41
2

e 757
2

12. What is the slope of the line shown? You may assume that each tick mark represents
one unit. y
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13. If f(x)=4x-2,then f(x-1)=

4% —BX+2.
AX% +2X+2.
4X+2.
4X—-6.
4x-1.
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14. The graph of which of the following equations is a line parallel to the graph of
Xx—5y=87?

X+5y =8
5x—y=8
2x+10y =8
2x—-10y =8
10x—-2y =8
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15. If z=X—_8,then X=
2X

16. If m:a,then X=
. a—b?.
a—+b.
a’-b.
a’+b.

a++b .
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17. Which of the following could represent the graph of y = —x* —1? You may assume
that each tick mark represents one unit.
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